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EVEE 916,916 ~81,649
Aol 2 893,262 84,673
EIPIEY- 13,024 £300
N MRS Y 13,024 A300
201 et HH| 9,024 A300
01 At 22l bl 9,024 A300
OFIIAEE 7S 1,224
PNEIDNEN 6,0002 x4+ 122 288
pNens 936
-EYX 15,0008 25 122 360
- MK 12,0008 45 122 576
OolYARAL +8XA ALDS
450,000%! 8% x23] 7,200
OCANDSUE oA 300,000 2% 600
202 01t 1,800 0
NIEREL 1,800 0
OC¥DSHE 2 300,000 6% 1,800
203 ¥R = bl 1,600 0
03 AR Z & @F T Y| 1,600 0
OoAN2 £+ 1,600,0002 1,600
405 TH&HH St 600 0
02 ©A Rl 600 0
OoAFTRA TA 20,0002 %302 600
JFzs 830,238 £84,373
Hgs X9 822,878 £86,773
101 @121l 28,919 8,986
04JIAH22RSES 28,919 8,986
Oclg @A 2F22I(1Y) 20,646
LT 60,2362 x2482 14,939
= 60,2368 x50 3.133
=P 60,2362 * 122 723
20IGTRBEHEYS  18,795,0002 *4.5% 846
nEEEES== 18,795,000%! *1.5% 282
NEEEE== 18,795,0002! *0. 7% 132
[VAYBHLLYI 18,795,000 +2. 945% 554
COEIQUBHLLI  554,0008+6.55% 37
O%) YLBE(1Y) 8,273
o1 24| 60,2362 %1002 6,024
= 60, 23621 +202 1,205
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&©: ¥Es (&)
SA - BB B () - MM - BES Ol &t o San HmEET
- Xt 60,2363 x5 302
- DUHSEERES 7,531,000& *4.5% 339
CNEBERYEZ 7,531,000 *1.5% 113
CAMTHEERYEZ 7,531,000& *0.7% 53
SUHLEBERES 7,531,000& %2.945% 222
LI RABEHEES  222,000& *6.55% 15
2 et A | 53,759 66,018 A 12,259
01 At 22/l 43,017 56,276 A 13,259
OM7LH 23 23 =l 9,905
e Zdl @ MEH 300,000& =541 1,500
o3 ENN 10,000& 308 300
olgl2dEeg 16,000 305 480
OlEHREE & 45,0003 30 1,350
SENZS 10,0002 =154 150
O 2 bH X 11,0002 =154 165
oMY HE L SHE HIY
5,000& 904 450
C O RALE M E S 200,000 »34! 600
- H I 1,710
o RO A4YARAE 150,000 5 750
oA (239 A )
30,000& *3274 960
OB (O, 2ON, AAYAT)
2003 *30001 x5 300
o EE Y FAS 3,000& =3000H 900
C o E 10,000& 200 2,000
Oz E HMAAHE FANES
30,000,000& *12% 3,600
OoAEs=2MI HA 10,000& *300% 3,000
Oczgas 2Ad= M= 15,0002 » 1008 1,500
O9sle &2t 30,000& *300= 9,000
OZAME & EFE HH 10,000& = 15074 1,500
O35 &2t 9,800
- A3 600,000 =83l 4,800
a3 2,500,000& x23| 5,000
O3 2HES 1,890
doIdESEHI EY 190, 000& »3 K 570
- SAEX 20,0003 102k A 200
CANRES 400,000& 400
- AHEI OISt 300& 2000« 12& 720
O%sed Mo 974
ga 9 S0l NE(HE HSE)
3,000 13074 390
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Sel: oZES (ol @)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
230 &AL ARS 400,000 400
- 239 A AL ME 8,000& 231 184
Ooug IH2NE 24 7,000& #2222 x12& 1,848
02 35294l 10,742 9,742 1,000
OFUHE MB 540
Jl2g 15,0002 x1CH x 12 180
AMEE 30,0003 *1CHx12& 360
OLA3AANRE RS Z 30,000& x12& 360
OFI=2=IN| 7,326
olNMZE 4,810,000& = 1CH 4,810
g 2,516,000& = 1CH 2,516
OXgEEE = 557
SIpSE=S 350,000& = 1CH 350
CHRE 207 ,000& = 1LH 207
O XS xtHAl 759
OlNME 2203 *2,493cc 549
HAEE 140& *1,495cc 210
OoREz 100,000& *12& 1,200
203 2P EF Y| 3,200 3,200 0
03 Al HF=X AR =AH| 3,200 3,200 0
OlASAMNIE= HR2FA 3,200,000& 3,200
205 ©| 3! bl 711,000 710,100 900
01 o8& st 198,000 198,000 0
O3 &=t 900,000& x15H x12& 162,000
SBXE S| 200,000& x15H x12& 36,000
02 28 351,000 351,000 0]
OE3=+Y 1,950,000 x 15 x12& 351,000
05 2dE2g38S &l 64,800 64,800 0
Ooy3zgdss &yl 4,800,000& *x15% *90% 64,800
06 2329 HRE=XY| 69,660 69,660 0
OQzgladgdd =&y 69,660
o & 2,400,000& *1H =128 x90% 25,920
- 2ol & 1,200,000 =1 «12& *90% 12,960
AURAJAE 900,000& *3H *12& *90% 29,160
Z2RAE 900,000 *x1H 22 x90% 1,620
08 =003 232 15,660 14,760 900
OQaA=UAZR2E 2 87,000& x15H x12& 15,660
09 Q=0 AHUEREEZ 11,880 11,880 0
OoaARVUAALREZ 11,880
=00A02ABEEL S 60,000& *15H x12& 10,800
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o T 6,008+ 152+ 128 1,080

aegas 20,000 20,000

03 AW ELS 20,000 20,000
OYAMHL LS 20,000, 0002 20,000

405 XH&HF St 6,000 86,400

01 U225 St 6.000 86,400
OCUINE Fa=D| | 3,000, 0008 *2CH 6.000

= 57,360 54,960

U2 ol 560 560

NEEETT 560 560

0@ BRIQ01# MAISIY BHLY

70,0002 x4 x25] 560

o1l 12,800 12,000

2 LH o1 bl 4,800 4,800

OZes o EJIR HIRAE S +8

00,0002 *8% x33] 4,800

29201t 8,000 7,200
OMXosl HIDAIE 48 2,000,008 «4% 8,000

BT 44,000 42,400

BEETR 9,000 9,000
OB24#o/8 ot 9,000,000 9,000

04 /¥ =2/ 01 ] 30,000 28,400
OME23l HIDAIE 2,000,000 *15% 30,000

07 AWEEAMEE S 5,000 5,000
OomeEl 223 5,000,0008! 5,000

BHS S P (3 AR R) 23,654 20,630

22l 23,654 20,630

ol 22l 23,654 20,630

201 YEr2 Y| 12,254 12,230

01 AR 22t 11,444 11,420
SE VIR =TI 5,900,0008! 5,900
OJlEgess Sl 4,704,0008! 4,704
O=z4 29 840,000 840

02 BBl 810 810
oot !X 27,000, 0008! *3% 810

203 &2 = bl 8,400 8,400

NEEECECES 3,000 3,000
OJlzeggeET| 3,000,000% 3,000
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OIS AR 2

M AN (ASNDR)
¢l =gl (chel & 9l)
% = RE]
SN BB (BH) - MR e bl D=2t
02 AN LR =T 1,200 0
OFAMHRETY| 1,200
04 BHEYHRET 4,200 0
ORNEgLRETY| 4,200
PV 250,000 * 122 3,000
Mo A 100,000 * 122 1,200
405 X+ &k S| 3,000 3,000
01 LS E S| 3,000 3,000
O=AI A 3,000,000% = 1CH 3,000




